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lllustration 3.

-—/—- . - . . . L] 4
Following particulars are given in respect of two companies producing similar product. Show the

impact on Operating Profit/EBIT due to change in activity of sales ( £) 20%.

ABC LTD. XYZ LTD.
Units manufactured and Sold 10,000 10,000
Selling Price per unit T 100 < 100
Variable Cost per Unit T 50 X 50

Fixed Operating Cost p.a. T 2,50,000 T 4,00,000

TR,

(1) Units manufactured and Sold | 10,000 8000 | 12000 | 10000 | 8000 12,00 |
z 3 3 z 3 2
(2) Sales @ T 100 per unit 10,00,000| 800,000 | 12,00,000 {10,00,000 | . 800,000 | 12,00,000
(3) Less : Variable Cost 500,000 400000 | 600000 | 500,000 | 400,000 | 600,000
@7 50 per unit
(4) Contribution [(2) - (3)] 500,000 | 400000 | 600,000 | 500,000 | 400,000 | 6,00,000
(5) Less : Fixed Operating Cost 2,50,000 |  2,50,000 2,50,000 | 4,00,000 4,00,000 4,00,000
(6) Operating Profit/EBIT 250,000| 1,550,000 | 350,000 | 1,00,000 0 200000
(7) Increase (+)/Decrease (-) | (-)1,00,000 | (+)1,00,000 © 1,00,000 | (+) 1,00,000
,, in EBIT
- |® % change in EBIT (40% | (+)40% (9100% | (+) 100%
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llustration 4.

B e

Alpha Ltd. A
Installed Capacity (units) /
Units manufactured and sold (Q) 3,000
Selling price per unit (S) T20
Variable Cost per unit (V) 215

Calculate the Operating Leverage, Break-Even Point and Margin of Safety Ratio in &ach
following three situations :

I.  When fixed costs are ¥ 5,000
II. When fixed costs are ¥ 7,000
ITI. When fixed costs are ¥ 12,000

: : Y
(1)  Total Sales [(Q x S)] 60,000 | 60,000 |
(2)  Less : Total Variable Cost [(Q x V)] 45 45,000
(3) Contribution (C)

15000 | 15000 |
(4) Less : Operating Fixed Costs 4

(5) Operating Profit / EBIT

10,000 ¥ 4;&‘3;

- io) [Contribution —— P

(6)  Profit Volume Ratio (P/V Ratio) [%*1ml - 25% | 2%
D Brvvashis % TR
(7)  Break-Even Point [w] ; 20000 |
=
(8)  Degree of Operating Leverage (DOL) [_W__] 1 —
354 -
(9) Margin of Safety Ratio [D OL] B ‘r.“';; ﬁ o
(10) % of Break-Even sales on total salgq'K }7)‘} I * e e
Comments : 2 N T, Tl

From the above illustration it is evident that Sihanas =
increase in fixed cost in the total coatamm!md‘_
one rupee, the operating profit would in .




4 \( ‘ Leverage @ 239
NI\ =
Bereases by 100%, the operating profit would increase by 500%. This can be verified considering

ation ‘III" when sales volume increase to 6000 units (i.e., 100%), the Operating Profit/EBIT in
hich a case will be as follows :

, ¢
Total Sales [6000 x ¥ 20] 1,20,000
Less : Total Variable Cost [6000 x 15] 90,000
Contribution 30,000
Less : Fixed Cost 12,000
Operating Profit/EBIT 18,000

s clear from the above that if sales volume increases from 3000 units to 6000 units i.e., by 100%,

(18,000-3000)
3,000

Operating Profit would increase from Z 3000 to 18,000 i.e., by 500% [ X 100]

y his involves a greater amount of risk because if sales happen to decrease by 100%, the Operating
ofit will come down by 500%.

We know that operating leverage is a reciprocal of margin of safety ratio. In situation I, margin of
ratio is 66%—%- It indicates, the firm can afford to lose it sales upto 66% % before it reaches

.-break-even point. But in situation III, margin of safety ratio is only 20% which means this
tuation does not provide enough support in respect of variation of sales. In other words, if sales
educed by more than 20% in situation III, the firm will be in the red. This happens due to existence
~ igh operating fixed cost resulting in lower margin of safety. A low operating leverage in
ituation | provides more safety in respect of variation of sales as margin of safety is pretty high but
makes unable the firm for using fixed operating costs to magnify the effects of changes in sales
its EBIT.
.5.2. Advantages of Operating Leverage
) DOL is a measure of the firm’s business risk. Business risks refers to the uncertainty or variability
. of the firm’s EBIT. Hence, other things remaining unchanged, a higher DOL means higher
~ business risk and vice-versa. :
! "{-,lt helps us to understand the impact of change in sales on operating income of the firm. If a
R high degree of operating leverage, a small change in sales will have a large effect on
. Operating income.
1) It enables us to make producti
- Tequires a large amount of fixed
- @ possibility of a very high sales
:5.3. Disadvantages of Operating Leverage . i :
S opersting break-evanipolnt. [smeans, it the fixmils qperating at break-
Ven-llse :3 :he contribution is equal to the fixed cost and the EBIT is zero. At that stage the
f BBOL or the firm cannot be defined, i.., at break-even level,

Contribution= fixed cost =Contr:')bution e eEnad
EBIT 3 : 5
like operating leverage. This is a very risky situation because a

most cases,cpm;sJ:IIﬁeS:::ilot ificantly damage the endeavour of a business firm to increase
1l decrease in sales ca

on planning proper. Any new method of production which
operating costs, increases DOL and is justified only if there is
so that the firm enjoys the increased EBIT of increased DOL.

DOL =



